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ANSWER KEY 
       

I. READING COMPREHENSION   8 MARKS 
 

A. Find the equivalents of the following words in the indicated paragraphs  ( 2 marks) 
1. acute 2. delays 3.  staff   4. discrepancy 
 

B. TRUE or FALSE and justify with reference to the text.                                ( 2 marks) 
5. False (Lines 2-3-4) “the international Society of Nephrology has set a goal to have zero 
preventable deaths from acute kidney failure by 2025, especially in Africa, Asia and Latin America.” 

6. False (Lines 6-7-8) “There is little information on the burden of this disease in Africa and 
availability of facilities for acute dialysis. A systematic review demonstrated the inadequate care 
available for the management of AKI in sub-Saharan Africa”. 

C.    Multiple choice. Circle to indicate the option that would make the sentence correct and 
meaningful.               (2 marks) 

7. c   8. b  9. d        10. c 
 

D. After reading the text, complete this table below correctly.                      (2 marks)  
Obstacles to kidney failure treatment 

11. Inadequate management of AKI 
12. Late reporting - delays in hospitalization. 
13. …lack of facilities to provide adequate care due to cost constraints,  

lack of trained staff, poor access to health care. 
NB: or any other answers that apply. 

             Solutions to kidney failure management 
14. Strategies need to be developed to detect, diagnose, monitor and manage kidney failure. 

 
II. LINGUISTIC COMPETENCE                    ( 8 MARKS) 

 
E. Put the verbs in parenthesis in the right tenses and forms.                         (2 marks) 

15.  got           16. had suffered           17. found out       18. had not been operated 
 

F. Fill in the gaps in the following passage with words from the table.            (2 marks) 
19. due to       20.  Besides                  21.  which           22.  whatever 

  
G. Circle the option that would make the sentence correct and meaningful.   (2 marks) 

      23. incurable          24.  can           25.  for            26.  at 
  

H. Reformulate the following sentences using the prompts provided without changing the original 
meaning. An example is provided                                                      (2 marks) 

27.  Despite being a victim of kidney disease, Ali manages to keep working moderately. 
         Despite the fact that Ali is a victim of kidney disease, he manages to keep working moderately. 
      28.  If Aunt Adama had been able to pay for regular dialysis, she would not have died  
        prematurely of kidney failure. 
 

III. Writing. ( 4 marks) 
Choose one topic only                

Suggested grade distribution criteria for the marking of writing:  
- Text satisfies required length and shows acceptable textual features:       (up to 1 mark) 
- Text shows understanding of topic / text is relevant to topic:            (up to 1 mark) 
- Text is free of grammar, spelling and vocabulary errors:             (up to 1 mark) 
- Text is comprehensible, shows overall textual quality and originality:        (up to 1 mark) 

NB : Other features of relevance to writing: legibility, punctuation, capitalization, etc. 
 


